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223.2262.000 (DN 15 | %" | 2.8 /min)
223.2361.000 (DN 20 | %" | 2...8 1/min)
223.2272.000 (DN 20 | 1" | 2.8 /min)

1000
®
Z100
£
5
E
g
< ®
2 10
[s=}
l>c<l
(D)
‘kw=1£5+
1

1 2 8 10
Durchfluss (I/min)

A - D Ventilposition

223.2460.000 (DN 25 | 1" | 6...20 l/min]
223.2470.000 (DN 25 | 1%" | 6..20 I/min)
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223.2661.000 (DN 40 | 1%" | 30...120 [/min)
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223.2360.000 (DN 20 | %" | 4..151/min]
223.2370.000 (DN 20 | 1" | 4..151/min]
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223.2461.000 (DN 25 | 1" | 10...40 l/min)
223.2471.000 (DN 25 | 1%" | 10..40 l/min)
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223.2861.000 (DN 50 | 2" | 50...200 |/min)
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223.2362.000 (DN 20 | %" | 8..30/min)
223.2372.000 (DN 20 | 1" | 8..301/min)
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223.2561.000 (DN 32 | 1%" | 20...70 l/min]
223.2571.000 (DN 32 | 1%" | 20..70 l/min)
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